£

IFSAER A —T >

NE 4z K % NET HDCP TOTAL ouT IN
BB B 0O &% B 71.2 10.8 82 ( 40 42 )
2 B W B F 71.4 33.6 105 ( 54 51 )
3/ A M I 71.6 14.4 86 ( 45 a1 )
4f7 Xk B B = 71.6 20.4 92 ( 51 a1 )
S5 & B & L 72.0 12.0 84 ( 42 42 )
6 & H F E 72.2 22.8 95 ( 46 49 )
7M. H O B 72.4 21.6 94 ( 46 48 )
8L £ B # 72.6 20.4 93 ( 45 48 )
9 fiI = RN B o= 72.6 8.4 81 ( 40 41 )
10 &= & B F 72.6 20.4 93 ( 49 a4 )
1560 & I ¥ 73.0 6.0 79 ( 42 37 )
20/ W A BB 73.4 3.6 77 ( 40 37 )
251 kK B B 73.8 25.2 99 ( 48 51 )
0 & = 74.4 3.6 78 ( 39 39 )
350 S Il 42 — BB 74.6 26.4 101 ( 52 49 )
4060 £ B E E 75.0 12.0 87 ( a4 43 )
451 E W B B 75.6 8.4 84 ( 41 43 )
507 kA E & 75.8 19.2 95 ( 46 49 )
551 0 2F B B &% 76.0 24.0 100 ( 49 51 )
607 WL W — 76.2 10.8 87 ( 41 46 )
6501 = ¥ +t BB 76.6 14.4 91 ( 47 44 )
706  E 4 B = 76.6 14.4 91 ( 47 44 )
7501 A B = OB 76.8 19.2 96 ( 47 49 )
80fi B M B & 77.2 28.8 106 ( 53 53 )
851iz H R B 77.4 9.6 87 ( 44 43 )
0ff B % I5 77.8 25.2 103 ( 53 50 )
o5fi7 B = 78.2 28.8 107 ( 56 51 )
1006 K< ¥ % #; 78.8 31.2 110 ( 58 52 )
11062 M B OB 79.4 15.6 95 ( 45 50 )
12060 K< ¥ IE B 80.2 16.8 97 ( 47 50 )
1306 X & B B 80.8 25.2 106 ( 47 59 )
14060 & — =+ 82.2 22.8 105 ( 50 55 )
150 M B & B 86.8 13.2 100 ( 48 52 )
BBE A | B 94.0 36.0 130 ( 65 65 )
BGE BEHE £ = 75 ( 40 35 )
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